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a, b and ¢ are the centres of circles K, K; and K3 respectively. K
The three circles touch externally and ab 1| ac.
K> and K each have radius 2 ﬁ cm. X @ X

(1) Find, in surd form, the length of the radius of K.

(i)  Find the area of the shaded region in terms of 7.
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The diagram shows a sector (solid line) circumscribed by a circle (dashed line).

(1) Find the radius of the circle in terms of £

(1) Show that the circle encloses an area
which 1s double that of the sector.
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[ab] and [de] are two parallel chords of a circle
with centre ¢ and radius length r.

cp L de,| Zach | = 4B and | Zdce | = 2B,
where B is in radian measure, § # 0.

(i) If the area of the triangle ach = the area
of triangle dce, show that B = % .
(i) Calculate the value of r if

lab|? + |de|? = 24

and give your answer as a surd.
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[ab] 1s the diameter of a semicircle of centre o and radius-length ».
[ac] 1s a chord such that |ir.:ab| = @, where & 1s in radian measure.

(i) Find |ac| in terms of » and o
€
(ii) [ac] bisects the area of the semicircular region.
Show that 2er + sin 2a = —. al
2 a a b
c
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